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14. This talk is mainly about

e °

A. participation of bodies in listening to music
B. how the body takes part in when listing to music
C. participation of muscles in the mental acts
D. how muscles take place of brain in thinking
1R IPE = ) S PTG P I S S R (R e AT AN SN LT 8= #7515
F 55— %, B — A1) “mental acts such as thinking arc not performed in the brain
alone, but that one’s muscles also participate. ({90 % 3CFE 1Y ARG 5 AR 4 EFRA
() SR 224 o T EL TR ATT () JUL P 0% sl 2 5 ™ g A A 7 < o 2 O IR R I 2
ET,
17. What is the talk mainly about?
A. Why American industries grew rapidly in the nincteenth century?
B. How advances in transportation helped American cities develop?

C. Transportation between the cities of the United States.,



nﬁ%%umjmam
D. Great American inventors of the nineteenth century.

CIE RS R I — S, R RRK R h E E RIT Sk A o W VR R T U
g AR LS AR T, B IF kS — 4 " The focus of today’s class is on an
important element in the development of United States cities, something the modern cities

need to survive: efficient transportation. (EE B & B — I EE B R NS KKK X

fol i E IR 17 A T IR A 20 B L s AR PR FE R T
FEEC G U PO 2003 ARWT B AY 13 8, F2 B A BUAE JF Sk RS — R .
13. This talk is mainly about
A. the origin of advertisements
B. the changes of advertisements
(. the diversity of advertisements
D. the importance of advertisements

M4k s T Sk g b — a) i there have been changes in advertising in Britain over the
past 30 years or so. (if i AR VR E )T E WA RZ L DLAR T SONT B E T
PR LA K A L J Ky AR SRS 1Y R AR o AN X ) X ) 1R SO ). R,
B AT 5

AT A PUELR 2003 AEWT SRR G 17 M. R ) AR B SRR — A

17. What does the story try to tell us?

A. Neighbours should help cach other.

. Women should have their own carcers.

C. Man and wile should share household duties.
). Parents should take good care of their children.

ST TSk G - Bl AL A 4 Jane Brown Fh i) K 24 0% . — B B85 — 0135
“Jane is becoming very angry at Bill's attitude. She feels that they should share the household
jobs, but Bill feels that everything should be the same as it was before Jane went back to work.
CRay S L 2R S TEARAN G o b A AU AT 0% 70 P 5K 55 o AH 2 HE R 6 45— DD 24 F ] 2% R BEZ Al
—HFEOTAW RO R . M S A X SO R TE YRR R FEZ M K S R R, K

BE LI C OIS 5 A TIPSR A ST B i A — s 00 T R 7E S RS R AL
SUE TR PN RGEMOX AR H i JE L S S e E — B N A

- AR 2 AR T BRSO AT TR B L TGS S T Sk b A R A B R FIAE T T
AHWT A" 22 A7 HE0 04 BRARE A2 48 S AR N A8 08 3T,

Wr 71 i & 0BG 2 T3 R 48 1o

200 SR I T P 8 i A i ey (4R iR 2 X A H AN B SR A X SRR A
A UEG Y AE A i B R SCEE (AL F Ay EAT A S0 L AR T o AR o 0% A A% O Y
P o DN RS 12246 TR0 LR A 7 PR A7 A% A i 25 o — B SC i, 7 38 30 0 26 780 0 I B, AR 4 S
AR A% 0 R BIVREAZ 0 VA5 110 00 i de by R SRR 1
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12. The survey carried out in the following countries EXCEPT ?
A. In Britain B. In Ttaly C. In Denmark D. In Germany

N — Ikt As R £ 4, "a European commission tried to find out ideas and reactions
to the women's movement. (—>BRYNZ 61 23 &1 L 98 A KA 0 doiz h i R IR L )
W R, X SR A R G R Rk . IS4 R W B0 0 36 2 0 o8 9 7 41 8 T 4 B
MR ERAELS R B ASCE D — & W LA 19X % JF HAT ol GEAE A W) X 42 150 /Y
PLEAT T VA, B A AE SCEE A 8 70 0 25 A o3 KX — A 0 AT P dE A W 484 of
British husbands”.*“37% of Danish men” ) 2" 15 of Ttalian men™ A s 5 o] DL AR Bk H
“Germany” X M 3£ [,

P& DU ERT 2004 AE 0T Jy AR Y 19 8.

19. Other than their speed. in what way were electric trolley cars better than cable

cars?

A. They could be controlled independently.

B. They were [ire resistant.

C. They could keep operating for a longer period of time.
D. They offered more room for passengers.

SCEEH 4 4 3 1 S [a) U3 T A e ) 24 A AT A il ROk s B B A
AN N v VNI P S 7 ol N 4 P B T T L A 11 I (A SR B L o 11 B P D M = =
19 A2 38 T A LAA) IIC A R 5 (o) @07 ok gl 1 BL 1) {0 o0 SO PR £ AP L R 4 R
FERY B BCREE 25 B A58 19 BUAT T 5 A KUl by Wi B % 1 B 9K 1) s MUY ) R 7 SC
A TR, A0 2 ELR G 40 59 %) 5 A ok Bk AR I B4R 1. SO 4 I The designers of electric
trolley came up with the new control system that allowed cach part to be powered
independently and have its own breaks. what's saler and more efficient than cable cars. (Hi,
iR DRI T OF 28l -2 R (U (s 15 ST A (VA S NS A e I W e S T B v~ S
B G A FN 5 L) 7 A U L Bl A Y B B A R L e A A - S DT RRA i
R A8 3 ) R A% o o ARG SCrb X o gl AR AR A R AR G

A L DU S 2003 4RI ) LA Y 5 5

5. The man wants the woman to help him with a

A. checking account B. saving account C. debit card D. credit card

i Sk gk 42 3], “T'd like to open a new account. (F& AL S H- 4~ gk F 0 " g6 J& 38
TR R A B G BV AT 0T I8 2 5 A S sl 17 Y AR AR 35 b G R AT R AR T
FARATRIT IR b SR AF A 3K QR TT 90 0 7 0 WA L 5 )7 Gy T R TR AR
IV I 0 A 35 AR o X 3 2 [ 1805 A R AT — o i LB IR 24 UK © Did you want to
open up a checking account and a savings account? (0 AS A I 005 W A7 200 7 fn
— MMEE LR )" Yes. Does the checking account come with a debit card? (S,
AN TG WU P 22 A — AT B AR ) S AT DU e AR A 2 R A o B B DK
. P Z%iE A,
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A A A TR e fk L 2 (R R A

W R 2 T mE 3 TG fE 4 B &

{r £ PUNT fy B0 oy HELE A L B b ROR . RS — R E R KRB B A
75 UE AT T A FEOR T AT fE L B e R X R R AN E LA R AR Z b R E s A
B AT N A AR A b B R X S R R A X TR I AP R R R A B R A —
B BRI SRR (7 i A (LA A s LR R 1 O ), T RN AR e AT B
R 201 i A AR 2 I EiE 1.

e an % pU FLREE 20040 SRy PR Y 26 @,

26. The expected life-span of Beijing residents has gone up by compared

=

with that a decade earlier.
A. 1.5 years B. 1.4 years
C. 1.2 years D. 1.1 years
A - n) 4 FI " The expected life span of Beijing residents has gone up to 75. 5

years old. c()mp'u'ul with 71,1 years old a decade earlier. (#§#zif .Jb 50 R B9 Ha N +4F

BIAY 7L 0% LR EIBAER 75.5 Z O IR Ao BB ERIE R EROEFEGTHEZ
[T 1.1 % . e a) (1940 )\'\/j i?Z I A8 "a decade earlier” [ *75. 5 years old” DA &

“T4. 4 years old”, fy T AR E STk L PR o i B0 R LB AR O RN IR R Bl R E
. XSGR A TLSE LR Zﬂ'L"f"‘l’lJ?‘?% S E IR D T
FEAN 4 DY ST 2006 4T g B A 12 A8,
12. Which of the following is CORRECT?
A. Dogs are now treated as part of a family.
B. Dogs still perform all the duties they used to do.
C. Pcople now keep dogs for the same reasons as before.
D. Only old people are seen walking their dogs.
A SR Sk n] DA R0 SO R E AR YE AT B X R . 7E W B “ However, the
reason why one keeps a dog has changed. (SR AMTELAE IR I 09 JR R 8028 T ) " AR 4 §F X
)R Bl DA AR . AT B AR A S R A Ak T BTE XA T A AR
SEWT R S S AR S R Ak 45 . “ Now people do not have to use a dog, but they keep it as a
friend. just like a member of the family. (B7EANTE AL Mt 4 2R EN]Y
WA RE ) A5 A AR AEE B DY —FF O s AT UKW i S Rk A 7ERfE T XEZLOA
T2 2Z o i 2 A O B Y 2 AR R T L DL A W B AR 2 B AT B A R K
W+ 3 e firp 27 A 248 PR R D 17 OC B A

W H R E TR 4 15 R #7 &
£ DT T g 88 0 R B B U3z R i BUIR 2 T R SO S & AN T T
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FEWT S o A8 rp e AR b B JC L RN S A R G R OGS A 4y R0 e P A 1
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24. Altogether how many people were reported missing?

A. 68 B. 90 C. 150 D. 10

WRR H T3 e W ) B0y 2 ML A . i R O A L e B e P 7 Y P
ARG LA B B0 0 09 A R e B B i T ksl 22 {0 Storms sank two river ferries in
southern Bangladesh on Sunday and some 90 passcengers were r«-]mrlul missing while at
least another 68 died. I E o 8 A5 5 A A0 o I g 50 08 i 5 JaU it KRy 00 AR EC R
KER A 68 AT ) "Ik i A B B I - G A fk J Him KT URE th
A, Rt Hop A 80 90 passengers™ “missing” "another 68 died ™0 S5 911 E SRR H
BEOC AR IR IG A HEk £ " 00 28 B Mt R i A R R Kl e 2 R Aﬁﬂﬁ-
HAd F IR T Z A bs R a8 48 0 300« FL e missing: 90 passengers X R 18 8 H A9 1F
iffy 2 3555 0T AR GE R BT

a4 PO SR 20040 AEWT Sy PR Y 27 B

27. The mortality rate had gone up greatly during the past 10 vears.

A. infant B. maternal €. malce D. middle-aged

7 TSk k42 31" The expected life span of Beijing residents has gone up to 75. 5 vears
old. compared with 74.1 vears old a decade carlier. while the death rate of middle-aged
residents increased dramatically. according to recent official report. (g4l < b 5t fg R AY
A N 10 AR 74,4 % | TI' FIBAER 75.5 %, SRy L gorh R RS ST R A AR B
PR * SRR VAS B THU1 D) S ST G i o AR L e N DR H'Ulri AVE ] S )R SO R —
EELRBE N, kY 7?3" g Wy, 3K W) ah e iy A% 0 A0 At T the death rate of middle-aged
residents” L 2 " increased dramatically™, ,”\J\,Lil’l] TR ﬂl Wiyt the mortality rate”
LA K gone up greatly™ XN Y . (R W25 ) K E 7 DLV 2 40 7 B R 4R,
A K 40 FI(J Wl AE % Y A A AT l'[’, VIBESTEN N E ﬂ‘u( /lll K4 HE " mortality rate’ ﬂ]
“death rate™J& it SCiRl 416 20 (i-‘i}\ FLWT SE 3% D)l 2Z sl o] LARRGE 5 M D T

E PR 1R P 5) F_'ﬁ AR 22 R i 12« 0 RERR RS W B S a0 ) 22 Ak i o) e X B S
RO A S0 PR A A 24 . AR B SO S R4 B 19 the past mortality of people aged between
35 to 54 years old had gone up 58. 5" during the past ten vears. [rom 158 people per
100,000 in 1991 to 251 people per 100,000 last vear. CfE ik 2209 10 4 CHEIRTE 35 3] 54
B2 A R AT ETF 58,5 % s M 1901 AFRE 10 J5 A {7 158 AYET- RGN & 2 4F 11
B 10 5T 251 ABET 0" 5 A6 U n A 3 AR G 1 Ja 7 O fise 5 b Rt 3 g v 4
RS H A S R L el mortality™ M gone up” LA during the past ten vears™ 2 B i
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AT & P ELH 2003 AT g B AY 23 .

23. Altogether how many people were injured during the violence?

AL L. B. 2. C. 13. D. 14.

S0 H Sk gk B #) Y a woman was shot in the leg and 13 police officers were injured
during a second successive night of violence., (% JJHFHFE T AW L, — A & THRIZ
15413 2 % L2 05 ) "Ry 4% O 3 injured” AR B, HOZ2Hp k28 T — ) "a woman
was shot in the leg™ . SR M of 45 87 0] =1L R 582 455t @ T injured” 30 [ AR 4 1 RUE 28 5t
AP RLG G g iR D S U Dy 1R K] O (R S A P BB B R R X TR
L TSP (T T PR IS o A i ) a0 P A RS L A R R W B 3
FIVE 7 RO Aot X st I AT % 12 42

BT I] S (0 T SR A ] LA DU ET BT 2002 AW ) FRAR Y 27 U BRI

27. The civil servants held a strike to protest

A. spending cuts B. reform measures

C. pay cuts D. low pay

SCET— J e gl 1 Argentina civil servants held a 24-hour strike yesterday to protest
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MODEL TEST FOR ENGLISH MAJORS 1

PART [ DICTATION [15MIN. ]

Listen to the following passage. Altogether the passage will be read to you four
times. During the first reading . which will be read at normal speed, listen and try to
understand the meaning. For the second and third readings, the passage will be read
sentence by sentence s or phrase by phrase s with intervals of 15 seconds. The last reading

will be read at normal speed again and during this time you should check your work. You
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will be given 2 minutes to check through your work once more.

Please write the whole passage on ANSWER SHEET ONE .
PART I LISTENING COMPREHENSION [ 15MIN. ]

In section A B and C you will hear everything ONCE ONLY. Listen carefully and
then answer the questions that follow. Mark the correct answer to cach question on your

answer sheet.

SECTION A CONVERSATIONS

In this section you will hear several conversations. Listen to the conversations
carefully and then answer the questions that follotw.
Conversation 1
Questions 1 to 3 are based on the following conversation. At the end of the
conversation s you will be given 15 seconds to answer the questions. Now listen to the
conversation.
1. What does the conversation imply about the mother?
A. She is busy at work. B. She has gone shopping.
C. She is resting in bed. D. She is feeling sorry.
2. How does the girl know her [ather doesn™t like the pizza he prepared?
A. He tells her honestly what he thinks about 11,
B. He reluses to eat it.
C. He throws it away alter making it.
D. She can tell by his non-verbal cxpressions,
3. What do the speakers end up doing [or lunch?
A. They decide to go out to cat.
B. They eat at a friend’s house.
C. They eat something different at home.
D. They decide to eat nothing at all.
Conversation 2
Questions 4 to 7 are based on the following conversation. At the end of the
conversation s you will be given 20 seconds to answer the questions. Now listen to the
conversation.
4. Which is not included in the four main types of character?
A. The female lead. B. The clown.
C. The painted face. D. The old lead.
5. Which is true according to the conversation?
A. The actress looks younger than her real age.

B. The actress looks older than her real age.
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C. The actress looks as old as her real age.
D. The actress looks like the famous actor Mei Lanfang.
6. How do they differ among the characters in Beijing opera?
A. By different gesture, B. By different voice.
(. By different color. D. By different costume.

7. What does "white” on the painted face stand for?

A. Tt stands for loyalty. B. It stands for disloyalty.
(. It stands for uprightness. D. It stands for integrity.

Conversation 3
Questions 8 to 10 are based on the following conversation. At the end of the
conversation « you will be given 15 seconds to answer the questions. Now listen to the
conversation.
8. Where is the man going according to the conversation?
A. To a radio studio. B. To a television studio.
C. To a party. D. To a fashion show.
9. Why does the man prefer working in radio?
A. Hec gets higher salary in a radio station.
B. He likes to dress up to work.
(. He can wear something casual in a radio studio.
. He has to work under pressure in TV studio.
10. What does the woman say about the man's ideas of dressing on radio?
A. He has to wear jeans. B. He has to wear a tie.

(. He has to wear a coat. D. He has to wear shoes.

SECTION B PASSAGES

Inthis section. vow will hear several passages. Listen to the passage carefully and
then answer the questions that follow.
Passage 1
Questions 11 to 11 are based on the following passage. Atthe end of the passage . you
will be given 20 seconds to answer the questions.
Now listen to the passage.
11, When do we need to build a positive sell-image according to the passage?
A. When we dare to challenge ourselves.
B. When we [eel it hard to change ourselves.
(. When we are unconlident about ourselves.
D). When we have a high opinion of ourselves,
12. What do we learn about our self-images [rom the passage?

A. They arc probably untrue.



STl P9 2 5 B RE VI 2k

B. They are often changeable.
C. They have positive effects.
D. They have different functions.
13. How should you change your self-image according to the passage?
A. By making your life successful,
B. By changing the way you think.
C. By understanding your own world.
D. By keeping a different image of others.
14. What is the passage mainly about?
A. How to prepare [or your success,
B. How to face challenges in vour life,
C. How to build a positive self-image.
D. How to develop vour good qualities,
Passage 2
Questions 15 to 17 are based on the following passage. At the end of the passage . you
will be given 15 seconds to answer the questions.
Now listen to the passage.
15. How do a man and a woman date traditionally?
A. The woman will invite the man to a home-cooked meal,
B. The man will pick the woman up at her home.
C. They will pay their own expenses respectively.,
D. The woman may take the initiative in inviting the man.
16. What will happen if today’s liberated woman does the inviting to a man?
A. The woman will stay at home waiting for the man to call her.
B. The man will take the woman home at the end ol the date.
C. The man pays all the expenses.
D. The woman pays her own expenses,
17. Which statement is true about today's American women?
A. Their only place is in the home.
B. They make nearly hall of the work [orce in the U, S,
C. Few of them hold positions of great responsibility and authority.
D. There are still discriminations in America looking down upon women.
Passage 3
Questions 18 to 20 are based on the following passage. Atthe end of the passage, you
will be given 15 seconds to answer the questions.
Now listen to the passage.
18. What can philosophy be best described as?

A. The study of social sciences.



